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Fa <8 & §E&A : 15

Instructions :

The question paper has 35 questions in all. All questions are compulsory.

Marks are indicated against each question.

This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.

In Part-II of the question paper, there are 19 questions from serial no. 17 to 35. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-I.

Questions from serial number 17 to 27 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 28 to 34 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 35 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.

An additional 15 minutes time has been allotted to read this question paper only.
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PART -1

Note : For question no. 1-4, attempt any one group i.e. Group A or Group B or
Group C from the following :
Group - A

In the context of France,'the fall of Bastille’ took place on -
(a) 14th July 1789 (b) 20th June 1789
(c) 4th Aug 1789 (d) 5th May 1789

In the context of France, what was ‘Tithes?-

(a) A tax levied by the Church

(b) Direct tax levied by the State

(¢) The tax levied on the articles of everyday consumption
(d) None of these

In the context of Russia, which group was the supporter of women’s ‘Suffragette
Movements ?
(a) Liberals (b) Radicals

(c) Conservatives (d) None of these

Who led the Bolshevik group in Russia during Russian Revolution ?
(a) Karl Marx (b) Friedrich Engels
() Vladimir Lenin (d)  Trotsky

Group - B

In the context of Russia, which group was the supporter of women’s ‘Suffragette
Movements” ?

(a) Liberals (b) Radicals
(c) Conservatives (d) None of these

Who led the Bolshevik group in Russia during Russian Revolution ?
(a) Karl Marx (b)  Friedrich Engels
() Vladimir Lenin (d) Trotsky

The Weimar Republic crushed the uprising with the help of a war veterans organisation
called -

(a) Security Police (b) Cheka
() Red corps (d) Free corps

In the context of Nazi Germany, what was ‘“Holocaust’ ?
(a) The Nazi Propaganda (b) The Nazi killing operation
(c) The Nazi Army (d) None of these
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Group - C

The Weimar Republic crushed the uprising with the help of a war veterans organisation
called -

(a)  Security Police (b) Cheka
() Red corps (d) Free corps

In the context of Nazi Germany, what was ‘Holocaust’ ?
(a) The Nazi Propaganda (b) The Nazi killing operation
() The Nazi Army (d) None of these

In the context of France, the fall of Bastille’ took place on -
(a) 14th July 1789 (b) 20th June 1789
(c) 4th August 1789 (d) 5th May 1789

In the context of France, what was ‘Tithes’?
(a) A tax levied by the Church
b) Direct tax levied by the State

(
(c) The tax levied on the articles of everyday consumption
(

d) None of these

The tropic of cancer does not pass through -
(a) Rajasthan (b) Tripura
(¢) Jharkhand (d) Bihar

Which is the largest fresh water lake in India ?
(@) The Wular lake (b) The Dal lake
(c) Bhimtal (d) Nainital

Soviet Union broke down in -
(a) 1990 (b)
() 1992 (d)

‘Gold coast” was the ancient name of -

(a) Poland

(c) Mayanmar
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Who was the President of the Constituent Assembly ?
(a) Dr. B. R. Ambedkar (b) Dr. Rajendra Prasad
(c) Jawaharlal Nehru (d) Maulana Abul Kalam Azad

Who is called the father of the Indian constitution?
(a) Dr. Rajendra Prasad (b) Maulana Abul Kalam Azad
(c) Dr. B. R. Ambedkar (d) Jawaharlal Nehru

Which one of the following is not the example of Capital ?
(a) Machines (b) Factories
(c) Enterpreneur (d) Raw Material

‘Multiple cropping’ stands for :
Hybrid Plantation methods
The Practice of growing more than one crop on a piece of land during a year
The Practice of mix cropping along with dairy farming

The Plantation of tall trees along with croppings.

Which one of the following activities come under primary sector ?
(a) Forestry (b) Banking

(¢) Transport (d) Tourism

Which is the most labour absorbing sector of the economy ?
(a) Banking (b) Dairy farming
(c) Agriculture (d) Mining

Which one of the following is not a Natural Disaster ?
(a) Global warming (b) Earthquakes
(c) Drought (d) Floods

The people of which country do not recognise earthquakes as a temporary problem ?

(a) California (b) America

(c) Japan (d) India
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PART - II

Note : For question no. 17 - 18, attempt any one group i.e. Group A or Group B or
Group C from the following -

Group - A

Why did subsistence crisis frequently occur in France during the old Regime ?

What were the different notions of Liberals, Radicals and Conservatives regarding new
formation of the Government in Russia ? Discuss.

Group - B

What were the different notions of Liberals, Radicals and Conservatives regarding new
formation of the Government in Russia ? Discuss.

Who was Adolf Hitler ? Explain his rise to power in Germany.

Group - C

Who was Adolf Hitler ? Explain his rise to power in Germany.

Why did subsistence crisis frequently occur in France during the old Regime ?

What is the significance of India’s location?

Describe the Eastern coastal plains of India.

Describe the three main features of river Brahamputra.

Who was Kwama Nkrumah ? Write two of his achievements.

Why is Democracy considered the best form of government? Give three reasons.

What is H. Y. V. seeds ? Write its one Merit and a Limit.

What is the role of education in Human capital formation? Explain.
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Why are economically or socially underprivileged communities more vulnerable to
disaster. Discuss.

Write any six components of ‘the relief and response’stage of Disaster Management. 12x6=3

For question no. 28 - 29, attempt any one group i.e. Group A or Group B or
Group C from the following -

Group - A

State the election process of the National Assembly in France.

How did Russia’s participation in the World War-I causes for the fall of Tsar ? Explain.

Group - B

How did Russia’s participation in the World War-I causes for the fall of Tsar ? Explain.

How did the world come to know about the ‘Nazi holocaust’? Explain.

Group - C

How did the world come to know about the “Nazi holocaust’? Explain.

State the election process of the National Assembly in France.

Describe the four features of Deccan Plateau. 1x4=4

“A Democratic government is a better form of government because it allows us to
correct our own mistake”. Discuss.

What was the African Policy of Apartheid ? How could that become to an end ?  2+2=4

What is Land ? Suggest any three ways to sustain land ? 1+3=4

Suggest any four methods so that a people could become an asset for the economy of a
village. 1x4=4
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35. Three features (1-3) are marked on the given political outline map of India. Identify
these features with the help of following information and write their correct names on
the lines marked in the map. 1x3=3

(1) The strait separating Sri Lanka and India.

(2) Plateau lying between Aravallies and Vindhya Ranges

(3) A fresh water lake
OR
Locate and label the following on the same political outline map of India.
Southern most point of India
Anai Mudi

Narmada River

The following question is for the visually impaired candidates only in lieu of
map Q. N. 35: 1x3=3

Name the strait separating Sri Lanka and India.
Name the Plateau lying between Aravallies and Vindhya Ranges.

A largest fresh water lake in India.

980707 - B1

DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM



DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM

YT -1

e : TSN 94 Th FH TR YU AT SRS | AW 3T, 1@ g0 &' Agar qu /'
.g;q.laq.i
TG & Y H, ' ardte &1 w5h’ we wfed gan ?
(a) 14 T, 1789 (b) 20 [, 1789
(c) 4 37T, 1789 (d) 5 WE, 1789

wiE & ded , ‘Trsg’ = ar?
(a) == % gr gfqarfed = (b) T % g gfquifed geaat Y
(c) USTHT YN ot Seqell W yfawfed #X (d) 379 9 HIE Tl

&9 & "o H, Afger AAYSR SAT<Ied | 1 9HfE 9 i o1 7
(a) IR (b) fewew
() wfeamw (d) T # FE T

&H! ifd & A €9 | diomiidsh 5o 1 g fhad T ?

(a) TS AR (b) el Tied
(c) oTeHR SfF (d) e

X

gq.CEY
&9 & Hed H, ' Afger AAfUeR SAT<Ied’ 1 gHef® 9 i o1 7
(@) SENEE (b) fewew
() Ffeamd (d) T | P T

&I ifd & A €9 | diesiias o o1 g e foar ?
(a) IS A (b) TheEl® Wiod
(c) wIcHR fH (d) glewht

A

N

S RN H U {51 ol oo aia! Tk HiTe el Sheger ol -

(a) HaT few (b) =
() THR d) W &R

980707 - B1

DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM



DOWNLOADED FROM WWW.STUDIESTODAY.COM

ot ST o Hed H, ‘ Srerhie’ @ or ?
(a) TS g=R (b)
(c) Aot & (d)

FJ

DOWNLOADED FROM WWW.STUDIESTODAY.COM

.

IR TR | U fasle i oo ardl

(a) H¥&T gfow
() YT &R

Tt ST % G |, ‘Bl 34T o1 ?
(a) TSI =R
(c) Sf &

I o GeY H, ' ariio &I w9’ we "fed e ?

(a) 14 T, 1789 (b)
(c) 4 T, 1789 (d)

I o HeH ¥, ‘eres’ A ?
(a) == % g gfqaifed X
(c)  USIAT SUHNT i g3 TR Ffadried &

e X1 TEl eIl ©
(a) T (b)
(c) FRESH (d)

IR 1 FIH ISt WIS T i 3w & & T2
(a) TR H© (b)
(c) oHdre (d)
Hifoera ¥ w1 forare ga

(a) 1990 H
() 1992 ¥

980707 - B1

DOWNLOADED FROM WWW.STUDIESTODAY.COM

ch HEJT Shedldl g1

20 [, 1789
5 {3, 1789

(b) T % g gfquifed geaat Y
(d) T FE T

frgua
foer ¥

ESIEIR
BRG]

DOWNLOADED FROM WWW.STUDIESTODAY.COM



DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM

‘TMeg I Y= A9 o :
(@) TS
(c)

Hfaem g & Teae i & 2
(a) I #. AR T <. TS5 Y918
() SO 8E HGH ST HEAH TS

TR GG &% ST fhd gl S & 2
(a) T = TR HSMI ST FHeH TG
(c) =L & AR, FHEHT TATDTS 8®

freafofaa & @ & I 1 ST Tl ¢ 2

(d)

‘Tgfay wEe TS 9 9red €

a) Tafsa 7w =t armer Tgfd

b) 4fF % e T zhe H = & 99 § Iq 9 R uE 9§ AfuE wee
c) fafya w9o & WY Y I]ARA HT TS

d) TES % WY 9 TSI HT TEEH!

(
(
(
(

frefolad § 9 sm-di nfafafy grefies &9 & 1= Tt § 2
(b) Sfem
d) T

frefefad § 9@ M Aeforawen &1 god ifys 99 Taifed E a1 99 § 2
iE; (b) Y IUEA
(d) @

980707 - B1

DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM



DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM

frfafed 9 9 #17 & TEfas e 78 § 2
(a) Afvas Il (b) o&9
(c) & (d) =M@

fFE T8 % B YTl I STCTRGH STHAHT % &9 § T8 97 ¢ 7
() famifan (b) e
(c) SmEE (d) wrd

HIT - 11

: I Hem 17-18, Fefofed # 9 ford T qu a1 S S 132 qu ' o1 A4en Y ' o' stoa qu
|’
gq.ta:ri
Wi" § YT A0S & SR Sifasht Ghe F=ii o 92

& H T4 IHR & TS & Ty H Iranedl, ewhew (TRadae!) U6 ®ieanceal o fafyws
foarR &= 9 2 == L

™
B\WaY

&Y T4 IHR & TS & Ty H IqRanedl, dewhed (TRadame!) T8 ®ieaneal o fafyws
faeR w9 ? == # |

TSI e i o1 2 STHAT H IHE S &1 90 &Y |

U’
HASITh BT A o1 2 SHAT H IHh I T AU e |

HiE H YT USTas & SR Siifeeht e =i 3 9 2
YT o SAAEfd o1 Hecd R 7 ?
9IRA o Qi 91 HSM 1 qUH L |

RIS Tt o A g fagransti &1 guia # |

TAEH M 47 ITh! 31 TS il o |

980707 - B1

DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM



DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM

BIhdsl ol TIRR o Tl 3731 ©F | THLAT a1 ¢ 7 oF deh < |
TE ARl S R ? $HE T 0 a1 S fofad |
A qoit Frfor & feren w6t s/ JfgewT & 2 9oi L)

i i a1 WIS €9 9 sfed safe smagretl @ sifyss sTaRferd B € 2 ==t L)

39T Jee & gd SR STarell Shiere ' i el & B: Ui ol fod | 1ox6=3

T T 28 - 29, FiTHToEd H @ fendl Toh g9 1 ST S| o1 40 3 Sreen qu o’
A qq |
gq‘a"

o c

g § Yo sad & fetem gfswan =1 99w |

T4 9ohR &9 i Yo favegg § 9riert SR o Id9 1 R0 o412 J0H i |
gq.‘af
9 YR €9 &l Yo favagg o 9FieRl TR o 99 1 R0 941 2 JUH i

‘IroT Tt & IR | fave il SRl K9 Tt 2 9o i |

gq.lqr
‘o7 HETeE sl & IR | fava w1 SR K9 Tl 2 9ui i |

o c

%G | TS st & e gfshan s g9z |

TFHT o USR Hi IR fagreraredi 1 auiE &Y | 1x4=4

' Brendifh AEA TG THU § 9B ¢ Fifeh THH $H TIH! Tl S i I STaER ot fyean

1 ==

980707 - B1

DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM



DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM

TINE K1 Wik Hifd 1 off ? 39 9 9Am foman s a1 ?

afy 721 ¥ 2 Y % uRo1 v 1 FEE WA F A G gl | 1+3=4

IS TR Tk GEd ST BN k1 U7 teferaen # 99 & &9 W g i B e §AI 2 1x4=4

feu U yRa & Y YE AEfas § H W= 1 9 3 g1 a9 @eT SifeRd R e € | = S
T THHI i ASE T 37 SN bl TgAIU R 3k WEl 9™ AFfas A SHAfera T@el
fofar : 1x3=3

(1) 9% TASHEHS S IR 1 diow ¥ famfaa w7
(2) TSR N SREe IR foea sfwen & 7w feoa 7
(3) T HIS UMl HI H
3teran
feu T IRd & THifaw Y- e | frefofea & feaf foamre &R 7% T fefan -
(a) 9RA i SfaIoraH fog P
(b) o g
(c) a1 &

frefofad uv Foe =t wianf % fou uv 9 35 & R W E -
IRA SR o @ fadiem #0190 Soenens & M fod |
SES! a1 foea sf@@l & 7ea feod 48R &1 9 fod |

IRA & 99 9l HIS UM & 3 &1 M fod |

-00o0-

980707 - B1

DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM



DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM

oud Aing M*’{)IMLH 'GU‘-‘I“‘”(’%“M"K:
INDIA

Political

Scale 0 150 kms
|

N e 35 & 7T

980707 - B1

DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM



DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM

INDIA

Political

Scale 0 150 kms
I

N a7 @reAr 3< 31997 £ hPe

980707 - B1

DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM





